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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

O emfr 5 ATeTE TR &l Thal & Question ID : 9864493243

Status : Answered

Sound CANNOT travel through: Chosen Option :3

Ans LT TETey

Q.2 Faw 2t 95 1 3 FAT ¢, T 3 T o HHo T e H oied ATell 5 Tgetl b1 31 T
Tsoag e

‘What is the age of the eldest sister if, the sum of ages of 5 sisters born at the intervals of 3
vears each is 50 years? Chosen Option :1

Question ID : 9864492513
Status : Answered

Ans
v 16 Iy
16 years

X 2 1839
18 years

x5 14 %
14 years

X 4 4T9
4 years

Q3 T IEG g ;
T SR Y T e s 3 Ay o @2 Question ID : 9864492083
In which language was ‘Baburnama’, the Memoirs of Babur, composed? Status : Answered

Ans 3& Chosen Option : 3
F !
Urdu
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X2 ?Ijﬁ,’&l’
Kurdish

v &3 gﬁ
Turkish
qodr

X 4
Pashto

4 :
U el oo F ART YA GEE FF FAT FE A g Question ID : 9864493277
The female reproductive part of a flower is called: Status : Answered

Chosen Option : 3
Ans CIRD )
1.
Sepals
X2 27
Petals

X3 e (Stamens)

Stamens
=T

Carpel

v

Q.5 faedr gue X 3t v fomelr o & v g@t FF G Tod g TEU w4 B
gl 7 T gEt @ e € 3@ wEa Y f o X & aifeelr 3w ae 31 X
far faem & 3 @ Status : Answered
In the moming, X and Y walk towards each other in a park. When they meet, Y’s shadow Chosen Option : 2

Question ID : 9864494112

falls towards the right side of X. In which direction was X facing?

QO FeaE A TG Afdd (power) #T SFE 2- Question ID : 9864493342

Status : Answered

The unit of power used in industry is:

Chosen Option : 1

Ans 1 et aleq
Kilowatts
X2 ©
Joule
X 3 <X
Watts

Horse power




o7 2t o O e ¥ AT § e

Two or more elements combine to form a:

govtjob alert.in

Question ID : 9864493187
Status : Answered
Chosen Option : 4

Ans

e
F !

Q8 geaT fAIEeT & TUTT IT H ATell TEN HTHIT T oA |

JAVVINEN
A+
LI 2

AHXIX

A B C D
Select the correct figure that replaces the question mark.

o

NOEIND>
XIFEIE
> |+

Question ID : 9864493762
Status : Answered
Chosen Option : 2

Q.9 Al 39Ul # T FiT @1 T # fEiay v s § #eg F4ar
]

Which of the following devices helps to maintain a potential difference across a
conductor?

Ans m
r 0
Voltmeter

o,
A cell or battery

Ammeter

< 3.

Question ID : 9864493505
Status : Answered
Chosen Option : 2




T

Galvanometer

X 4
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Q.10

T AT (TeHegANE) FF H, T Reg(?) g@nr gaiw aw
FIAR, TF MW HqAieua gl Be 1w fFwed # ¥ soieyd mw & wa
2yl

5E, 7F, 11H, 17K,?

In the following alphanumeric series, one term is missing as shown by the question mark
(?). Select the missing term from the given options.

5E, 7F, 11H, 17K.?

Question ID : 9864494297
Status : Answered
Chosen Option :2

Ans X' 1. 20Q
v 2. 250
< 3 20N
K 4. 25P
Q.11 et Wil Ehr &1 O% WIST 4 BE H 5 Wl § i gET ST 7 g &

Ans

F 10 U2 F @ FT A # o9 Er amh @ o St g & ot @ T
Y @ @ sl SR e gET & s smei?

One pipe can fill an empty cistern in 4 hours while another can drain the cistern when full
in 10 hours. Both the pipes were turned on when the cistern was half-empty. How long
will it take for the cistern to be full?

x 1 6 ue 40 fAae
6 hours 40 minutes

, 3 U 20 fme
3 hours 20 minutes

, 5w 30 e
5 hours 30 minutes

4_4a’%20'mmr

4 hours 20 minutes

v

x

x

Question ID : 9864492691
Status : Answered
Chosen Option : 2

Q.12

Ans

ffafaa # & frwer 3T 97 e # FEURRET F= & @ amEr
T

‘Which of the following is used for disinfecting drinking water?

Self=reT 9T3sT
| Bleaching powder
x5 T Hiar
Washing soda
Baking soda

W2

x

Question ID : 9864493609
Status : Answered
Chosen Option : 2

Q.13

Question ID : 9864493843
Status : Answered
Chosen Option :1




— ) VAT o)Vt [o]o ST Ta Mg

& Qe e B2
kabaddi
P q R
= T u

Football | ¥

Cricket

Football - Feater Kabaddi - =8 Cricket - fohihe

In the following Venn diagram the total number of students who play all the three games
is:

Kabaddi

3 Q 3

= T u

Football | ¥

Cricket

Ans « 1.5
X2 5+Q
K 3 S+V
X 4 S+Q+V

Q.14 v et ABC &, FHSI0TB TR &, B=15 Wit 3t AB=s Féfex &1 77 gy
ABC T IReed &= a1 &, 7 gt o e 7 i

In a triangle ABC, right angled at B, BC=15cm, and AB=8cm. A circle is inscribed in
triangle ABC. Then the radius of the circle is:

Ans X1_2ﬁam

2cm

x 2. 4 HarHRET
4em

v 3 TEHET
3cm

x4.1ﬁﬂ1ﬂa¢

lcm

Question ID : 9864492558
Status : Answered
Chosen Option : 2

O R AT o Fea F afE ad &2
Which of the following is NOT the combined form of carbon?

Ans hd

Dolomite
o 4 m

Diamond

Question ID : 9864493172
Status : Answered
Chosen Option : 3

Q.16

Question ID : 9864494077
Status : Answered
Chosen Option : 4
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Tk o H gHT TF gar @ &1

Complete the following sentence with the most suitable option.

A shirt always has

Nt

r 0 PTeTl
a collar

gdal
2

" a button

X3 |
a pocket

v s
fabric

Q.17 =fe foddt 5e1 & foraty 1 2 FERieT For B 9 o 36 3R 448 @1 déier

Ans

g oar gl o =@ S F a9 & o e 1 oS Far gl

If the edge of a cube is increased by 2 cm, the volume will increase by 488 cm®. What
then will be the length of each edge of the cube?

«1_3?@#’!&
8cm
7 T
7 cm
9 T
0 cm

6 TereteT

6 cm

X2

X3

X 4

Question ID : 9864492714
Status : Answered
Chosen Option : 2

Question ID : 9864493895
Status : Answered
Chosen Option : 4
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Problem Figure

B
Answer Figures

Problem Figure - 93« &=

L

Answer Figures - 3o 3Tpfoat
Choose the correct mirror image of the following figure if the mirror is held at AB line.

Problem Figure

L.

Answer Figures

- .g;g.
. xAtC B c
< 2B
K3 A
v 4D

B

&

O FET (Hr -12) F T AT F Fha A g 2
How many atoms will one mole of Carbon (C-12) contain?
Ans of' 16,02 x 1073
X 2.60.20 x 102¢

< 3.8.06 x 102°
X 46,02 x 10%

Question ID : 9864493388
Status : Answered
Chosen Option : 4

O g7 & HHRT A, F fEe e T
In Force equation, F is equal to:
Ans o 1 ma
< 2.mgh
Xamv
X 4 u+at

Question ID : 9864493259
Status : Answered
Chosen Option : 1

2 FH T Fr THAT T FAT Fl AT 27
The capacity to do work is called:

Ans
x 1 oIS
Power

Question ID : 9864493321
Status : Answered
Chosen Option :2




)
force

arer

- pressure

«4_ﬁﬁ'

energy

K2

X3
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Q22 7 62 500 9T 21% HFrafWF T H 1§a&¢ﬁvaﬁﬁmmm

Find the compound interest on ¥ 62500 at 21% per annum for 17 years.
Ans X1 T 10,687.5
X 2. 20,695
X 3 T 21,638.5
v 4 20,6875

Question ID : 9864492586
Status : Answered
Chosen Option : 3

Q.23 3 =1v fFedt § & TR o5 & 999 Fi

T YT ‘390T FET W § HefoT g, 39 W SgeRe AT T

o B
Select the related word from the given alternatives.

‘Explore’ is related to ‘Discover’ in the same way as “Walk’ is related to
Ans x Tl STe=AT
1.
Find

X2 i
Accelerate
P SRS
Search
W 4
Ramble

Question ID : 9864493935
Status : Answered
Chosen Option : 4

O s W P W F ERes FEw T2 8?

Which of the following is not a voluntary action?
TS F aE F
| Closing of fist
2. fee, et
Beating of heart
= HHl I Tl

Ans

x

v

Moving a chair

T & ol
4. =
Taking an object

Question ID : 9864493616
Status : Answered
Chosen Option : 2

Q.25 w2 7= g & fv, g7 ol i sfrafaw o & &= 71 w837 daw

FH T w7 o gar mfge?

To hear a distinct echo the time interval between the original sound and the reflected
sound must be at least:

An hd
s X1_0.2m

0.2 second

Question ID : 9864493324
Status : Answered
Chosen Option : 3
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v 01 3%

0.1 second

A2 e TEar #1 32%, 80 ¥ WEAT fhaer ¥
32% of a number is 80. What is the number?
Ans x 1. 40
v 2 250
3. 50
< 4260

Question ID : 9864492947
Status : Answered
Chosen Option :2

Q.27 37 YR SRAT Ihedldl oIS & AT dI30 AT A arehealiol
TEITATYE (TAET) 3 A @ 9T Tger AT 1
Name the professional Indian basketball player who became the first ever player to be
drafted from India into the National Basketball Association (NBA).
Ans -
qd=1H g A
Satnam Singh Bhamara
2. Y
Yadwinder Singh
3.
Ajmer Singh
;. Tleheret Y

Akilan Pari

o

X

x

Question ID : 9864492350
Status : Answered
Chosen Option : 1

Q.28 Trfois P e vare BT o <aest 7 ures 3ok SR g S
HTaTerR S[UTer g1 &7

‘Who stated the following law: ‘The properties of the elements are the periodic function of
their atomic masses’?

Ans “
x, TS

Newlands
AT
Mendeleev

< 3.
Moseley

EICEE R

Dobereiner

2

< 4

Question ID : 9864493374
Status : Answered
Chosen Option : 2

Q.29 & FEanHt 1 uEEe 40 ¥l A ® T BEA 2.50 § gl wEm Rl §7
The product of two numbers is 40. One of them is 2.50. What is the other number?

ans 114
X212
X215

Question ID : 9864492941
Status : Answered
Chosen Option : 4
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Q30 JfE tana = VZ- 1 g @ tana - cota = ?
Iftana = /2 - 1, then the value of tana - cota =2
e K2 +1
<21
Vs -2
K422

Question ID : 9864492917
Status : Answered
Chosen Option : 1

Q.31 ART 2017 F THRT AT AT w7 IU=arg G ST 36 fa=amAr
e foEr an

‘Who wrote the Indian historical fiction novel ‘The Rise of Sivagami’ published in March
2017?

Ane 1 Ffarer fHurér

Amish Tripathi

2 3ufd T
Arundhati Roy

x5 ¢dccd UETgeh
Devdutt Pattanaik

«4_31|=1'q ATolho
Anand Neelakantan

Question ID : 9864492233
Status : Answered
Chosen Option : 1

Q.32 3T v Fededt & T A & "ol AT TF 97 F F Fa @ (@) ey
TeF! T TAHEHAT T F T (T §) F E

EEGEUH

7y = w5 W= ww aE &

ot
1. 7w & T w A

2. #tg B & wAT 3 Fwa T

Read the given statement and identify which of the given conclusion(s) logically follow(s)
from the statement.

Statement:

Death keeps no calendar.

Conclusions:

1. Man must die one day.
2. Death can come at any time.

Ans - Faer frshy 2 3TTEIOT FHAT g
1.

Only conclusion 2 follows.
|1 3T 2 gt JHegeor T T E
Neither conclusion 1 nor 2 follows.
1 3R 2 gt e = E

Both conclusions 1 and 2 follow.

x

v

Question ID : 9864494268
Status : Answered
Chosen Option : 1




x

Only conclusion 1 follows.
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Q33 12T HFT AL AI s F A T @l srawa
If 192 pens cost is T10, how many pens can be bought for T 5?
Ans x 1. 56
v'2 96
X348
X472

Question ID : 9864492605
Status : Answered
Chosen Option : 2

Q.34 9y {er & forlr M Tafef@a & & S & g F vueEd aa §2
India-born Leo Varadkar became the Prime Minister of which of the following countries?

Ans xtaﬁ%‘rur 3TRTeRT
South Africa
X2 SEEEE
Scotland
v &3 IS
Ireland

ireTerT
Sri Lanka

< 4

Question ID : 9864492165
Status : Answered
Chosen Option : 3

Q35 fy % fow 1w TEfdd AT F 3R W aguieyd & T+

&, 4,

Select the missing figure based on the given related pair of figures.

Question ID : 9864494179
Status : Answered
Chosen Option : 2

Q.36 foelr & & Fo AA(A), I (B) W FWC) TFT W E IE ABz3:z @
AT B:Cc:6:13 B AT A:B:C F AR FT 2E M7

There are red (A), yellow (B) and green (C) tokens inabag. A:B::3:8.B:C:6:13.
A :B:Cis given by:

Question ID : 9864492805
Status : Answered
Chosen Option : 4

Ans  X'1.3:8:13
K 23:6:13
X 3.3:48:13
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Q.37 AT 2018 F 3EA & ToaTw F ¥ F Fww Fgwa G = §2

Ans

Who has been appointed as the Governor of Assam as of March 2018?

L TR 9IS
X1
Ganga Prasad

SeTer HET
v &) 2
Jagdish Mukhi
. sareTel Afed

Banwarilal Purohit
-

x

< 4
Subramaniam Swamy

Question ID : 9864492427
Status : Answered
Chosen Option :2

Q.38 o Yoremdr, fruw Tufy & 2msr 2T, 90 Reiisdier iy wer & oy s e &

WIT FIA § | @O B FAW A gC, FH FAT F SO OGS @ A

& A6 TR g a9
A train, starting from rest, attains a velocity of 90 km/h in 5 minutes. Assuming that the
acceleration is uniform, the distance travelled by the train during this time is:

x 1 3.25 fpeldAET
3.25 km

2.25 faeeieT
2.25km

3.75 foheit AT
3.75 km

1.5 fehetidTeT
1.5 km

X2

v 3

X 4

Question ID : 9864493240
Status : Answered
Chosen Option : 2

QY R AR T i F T s F v =& &

FF @ Fe =TT T
p. q 3 & A= T H

EEH

1. (p+q)P =16
2. p-q=4r=2p

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What are the values of p. q and 1?7

Statements:

1. (p+g)?=16
2. p-q=4r=2p

v &)
TETST F F9E 27 F o0 Fua 1 w2 @ & gaeg F

Both 1 and 2 are sufficient to answer the question.

X2
HATH T F9E &4 & [T AT Fu= 2 & q3rea 2
Only 2 is sufficient to answer the question.

K 3.

Question ID : 9864494328
Status : Answered
Chosen Option :1
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Neither 1 nor 2 is sufficient to answer the question.

< 4
HATeT & FAIE &4 & foIT AT HU= 1§ T3 2|

Only 1 is sufficient to answer the question.

Q.40 wyrga st X MY & 2017 & ©F #gE A AersiFe d g agat &

TSfeoT i FEAT (29T #H) @@ §

A W A TEeT HEA AR AT gEl HE g aed @ St
W B
A T I 2017 FF AT F Tl F e wiee frafr g

jan feb mar apr may jun

jan- Sl feb- TTEA  mar-ATHapr - H¥F  may- FE jun- SF

The data given shows the registration of bikes and total vehicles (in thousands) for six
months in 2017 in city X.

Note: In the chart, the first number represents bikes and the second number represents
total vehicles.

The increase in registration of bikes from May to June 2017 is:

jan feb mar apr may jun

Question ID : 9864493797
Status : Answered
Chosen Option :2

ans X 1.69%
V2 64.7%
X 3 70%
X 4 60%
Q.41 urr 3 RBvg I g7 UF AeE F 40 Frelwer #r gl 9T F A 8 W

T § Tl ORT ¥ W T g SW gl A ow e F 3¢ A 5 6
S & T e & A oA A g

To go a distance of 40 km upstream a rower takes 8 hours while it takes her only 5 hours
to row the same distance downstream. What was the rower’s speed in still water?

x1_4.5ﬁﬁnﬁa9ﬁra‘a
4.5 km/h
4 fFrendre 9 der
4 km/h

6.5 farettaieT 9fy e
6.5 km/h

1.5 frerder 9fa wer
1.5 km/h

X2

W 3

< 4

Question ID : 9864492810
Status : Answered
Chosen Option : 3

Q.42




T, IEAT H AT feg s

9Ea Sidr or?

Who won a gold medal in the World Weightlifting Championship at Anaheim, USA, in

2017?

W m'l'é Rk
Mirabai Chanu
| Kunjarani Devi
o, O R
Karnam Malleswari

) ECol
Vandna Gupta

x

X

209 9%&1%‘? alert I n Question ID : 9864492219

Status : Answered
Chosen Option : 1

Q.43 s & 715 Ieds HPTS B FAA TH AW WA G A THE TS SH GE
H 54 A A B §

Ans

1 2 3

A w]N

V= A

Use each of the following figures only once and form three groups. The three groups so

4 5 [3

Vl=A

v 1.(1,47), (2,58), (3,6,9)
< 2(15,7), (2,4,8), (3,6,9)
< 3(1,47), (3,58), (2,6,9)
< 4(1,4,7), (2,6,8), (3,59

Question ID : 9864493825
Status : Answered
Chosen Option : 1

M Faw Fr FfEET BT g o= a9 &7

Ans

A fungal cell wall is made of:

v Frsfea (chitin)

chitin

< 3.
lignin
) gHr Begarst (hemi-cellulose)

hemi-cellulose

x

Question ID : 9864493335
Status : Answered
Chosen Option : 2

Question ID : 9864493968
Status : Answered
Chosen Option :2
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TS =T & 919 gRem e g

Complete the following sentence with the most appropriate option.

A king will always have a

Ans -
x 1 AT
Minister

Q.46 forsT o W AR & a7 # &F & 7 3@umenst # & 389 3 @ Bfea

%0 Question ID : 9864493645

Status : Answered
Chosen Option : 2

aF

T TeSHIaT F AT T200 F5 TR HT A8 @eg & ar G R g,
6T o1 ST CeTrEINaT 1 ITANT S8 AW @ £

o

1. FerE3ay 1 Ao dar g
2. vesHay & AT o @d Gar arn @, dar 3 S adie @ @ g
tieilpmi era/si snoitpmussa nevig eht fo heihw ediced dna tnemugra eht redisnoC

tnemugrA

ton era elpoep tey ,serorc 200 ¥ fo tsoc gnippohw a htiw detcurtsnoe neeb sah revoylf A
‘heum revoylf eht gnisilitu

noitpmussA

1. .sselesu s1 revoylf eht fo notcurtsnoC
2. .detsaw saw revoylf eht fo noiteurtsnoc eht no tneps ygrene dna yenom emit ehT

Ans 1_13#112 altl Wifgd g1

XKoo
ticilpmi era 2 dna 1 htoB
., haer qaEReT 2 [Afga B
tictlpmi s1 2 noitpmussa ylnO
., sharel gauren 1 F=Rd g
ticilpmi s1 1 nottpmussa ylnO
AR A & 2 @Ra f

tietlpmi s1 2 ron 1 rehtieN

x

x

v

Y Fif¥em FAT fehetent T grar & Question ID : 9864493286

Status : Answered

Mechanical energy is the sum of:

Chosen Option : 2

chemical energy + electrical energy
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. T 3 + R 3ot

kinetic energy + potential energy

., T 3ot + 3w 3

kinetic energy + heat energy

x4_ﬁ°—1ﬁ-ﬁl’ﬁ‘l’+mm

potential energy + heat energy

Q.48 1 x 1075 At wiy sy Fr gesias 3 # guaaT T T f9ems & pH
b=t grm |

The pH of a solution, whose hydrogen ion concentration is 1 X 10~ °mole per litre, will be
Ans X 1 g
Vs
X34
X a7

Question ID : 9864493310
Status : Answered
Chosen Option :2

Q.49 vl 7 U A AUET F 2 45 1 46 S UF T 3N 97 ded W AH & 4
55 : 57 &=t wgem HfAd & 9T F 58 e 40 ¥ A am gF # A
3ided W 38h 50 fAee 29 ¥ ale ugd AT A S A6 A gU A
# foreer wAE wemar?

Praneet started his journey at 2:45:46 p.m. and reached the destination at 4:55:57 p.m.
Aunit started the journey 58 mins 40 secs after Praneet and reached his destination 50 mins
29 secs after him. How long did Anit take to complete his journey?

Ans .
x ;. 1 e 59 fame

1 hour 59 minutes
x, 2 °¢ 2 e
2 hours 2 minutes
v, 2 8¢ 1 e 12 ¥%s
2 hours 1 minute 12 seconds
X, 2 OC 2 Whs

2 hours 2 seconds

Question ID : 9864492994
Status : Answered
Chosen Option : 2

Q.50 37 e g S REnf@d By & @ v ety e g

Ans (11

Question ID : 9864494258
Status : Answered
Chosen Option : 1
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Q.51 ofg SerEar & e o1 ugen 3R S gerw wiosw A e f, Sreu e s
SO WEET i WFE?

If the first and third members of a Dobereiner triad are Phosphorus and Antimony, the
second member of this triad is:

Question ID : 9864493093
Status : Answered
Chosen Option : 3

Ans HRT

Q.52 2=y w7 =) Rrepeut & O wew sugw Reew $ IR RelTUE o B Q@ Y

T FrHerT & e wa &

Question ID : 9864494128
Status : Answered
Chosen Option : 4

Complete the following sentence with the most appropriate option.

An office always has a/an

Ans x1. T\Eﬁé—

Kitchen

_ od
Roof
ehlT
3.
X Car

_ AT
Authority

X2

4

O3 PrafafeT & ¥ Fi9 v ofdy gew
Among the following which is a rational number?

Question ID : 9864492744
Status : Answered
Chosen Option :2

Ans X 1.37
v 238
X3 312
X 433

°'5“::|‘ﬁ;a+ai=3g’ra’ra3+$=?

Ifa + - = 3,thena3 + —~ =2
a [}

Question ID : 9864492876
Status : Answered
Chosen Option : 1

Ans  of' 1 18
<29
X3 6
<412

Q.55 =if v 8 3R FEAT 136p 5785, 15§ TUTE: Rrewiera &, A p 7 vgwaH A A
Hifam
If the 8 digit number 136p 5785 is divisible by 15, then find the least possible value of p?

Question ID : 9864492503
Status : Answered
Chosen Option : 2




Ans x1_4
vl
K32
X43
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Q.56 TreRerem & W9 T F e 9§ 2017 F fRw 9% F oot ¥ geAEg
FoRaT TrT?
‘Which chef was awarded the Padma Shri in 2017 for his culinary contributions?

Ans
AT TS
K2
Madhur Jaffrey

X2 TaeTe T
Vikas Khanna

. Helg FQ
Sanjeev Kapoor

WER 7R
Ranveer Brar

v

< 4

Question ID : 9864492374
Status : Answered
Chosen Option : 3

T A ga B, T X {4+ (=2) x(=3)} =7
Solve the following 7 X {4 + (—2) X (=3)} =7
Ans X1 _14
X214
V'3 70
< 4 42

Question ID : 9864492699
Status : Answered
Chosen Option : 3

O3 fFE T U= H gy 30 g 3EE
Which Indian State has the most number of airports?
Ans hd
X1 qieeH SaTme
West Bengal

feelr

Delhi

I
VN

Gujarat
Hg IS
Maharashtra

X2

X4

Question ID : 9864492118
Status : Answered
Chosen Option : 3

Q.59 wgfafes semITEF Hihsd e 2017 FiF & Fvw@ g@w o fFar = &
The Fugitive Economic Offenders Bill 2017 was passed by which ministry?

Ans

) AT
Labour Ministry

5 3
Commerce Ministry

Question ID : 9864492288
Status : Answered
Chosen Option : 3




FTAT HIATHT
X4 ~
Law Ministry
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Q.60

Ans

45 —[38 — {60 +3 — (6 -9+ 3) = 3}] =7
45 —[38 —{60+3—(6—9 + 3) =+ 3}]

v 26

<221

X325

K424

Question ID : 9864492559
Status : Answered
Chosen Option :1

Q.61 s # FRREw oW Rig W waww @ €, 3@ g & aw Fw 2

Ans

‘What is the name of the point at which the chromatids are attached in a chromosome?

v TAfAW (Centromere)

Centromere
ST (Gene)

Gene
, R H I (Centrosome)

K2

~<
Centrosome

x4 TurEAtag (Nucleosome)

Nucleosome

Question ID : 9864493438
Status : Answered
Chosen Option : 3

Q.62

Ans

0 FUA TG AR dF 1 o e wud 7 @ sla & aren sia@fea
gl

FU:
30 9 & doic A, AET ST & 6 FS $s Hded g1 fohar |

RO
1. A AT & U e T IEedehan 2 #
2. 7 37 0F & § s fov sfas facdy eare ¢ it 3ravaehan B

Consider the statemert to be true and decide which of the following assumptions is/are
implicit.

Statement:
This year in the budget section, there was no fund allotment for travel msurance.

Assumptions:
1. Travel msurance requires funds.
2. There are many other areas that need more financial attentions.

x 1 Fael aren 1 fafifRa 81
Only assumption 1 1s implicit.

z.ma’rﬂnﬂn1m2mﬁ%ﬁﬁl

Either assumption 1 or 2 1s implicit.
| HROT 1 3R 2 gt iaffed &

Both assumptions 1 and 2 are implicit.

4.Qﬁﬂﬂﬁﬂﬁ2é’rﬁﬁﬁﬁﬁl

Only assumption 2 1s implicit.

x

v

x

Question ID : 9864494379
Status : Answered
Chosen Option : 4

Question ID : 9864493926
Status : Answered
Chosen Option : 4
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X O|® X[X XX @
® X|X Ol® O|C X
A B C D

Select the figure that does NOT belong in the following group.

X O|@ X[X XX @
® X|X Ol® 0|0 X
A B C D

Ans x1_D
X 2B
K3 A
W C

Q.64 FrEe % o 3l # § uig-Res # vEe weie F w9 & B suer
e =mer &2
‘Which of the following allotropes of Carbon is used as a reducing agent in metallurgy?

Ans m
F !

Graphite
X2 FEA coih
Carbon Black
Elreac)
Charcoal
EaC
Coke

X3

W 4

Question ID : 9864493431
Status : Answered
Chosen Option : 2

Q.65 37 fseT & 997 & = B 7w Ry & Noa e & 78 a6 ¥ 77

Ans

Question ID : 9864493969
Status : Answered
Chosen Option : 4
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Q66 gfe 23 x 31 =713 @ 0. 0713 + 3.1 f&aam Fem?
23 x 31 = 713. How much is 0.0713 + 3.17
Ans X' 1.0.0023
<2023
<323
v 40,023

Question ID :9864493001
Status : Answered
Chosen Option : 4

Q.67 7% W eueas FAn H AR vty F fF sEH oA & 7 Fidar agEe
fafga & &

GE
ofy 3T e A9 §, 3 gAY O A9 T v e & 2

mﬂﬂﬁl’:

1. g8 v W A F SR B

2. Y TF M 75§

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
If you're a classical dancer we have an exciting job for you.

Assumptions:
1. We need a classical dancer.
2. You are a classical dancer.

e EE I AE 2 Bl d

Neither 1 nor 2 is implicit
Faer gA 2 fafga &
) Only assumption 2 is implicit

) Faer FgAA 1 Ak @

Only assumption 1is implicit

4.13ﬂ¢2aﬂ"rﬁr'ﬁgr-r%

Both 1 and 2 are implicit

x

v

x

Question ID : 9864493868
Status : Answered
Chosen Option : 4

A% iy R e R o Reat et ¥

How many triangles are present in the below figure?

Ans X112
X215
V14
X+13

Question ID : 9864493742
Status : Answered
Chosen Option :1

Q.69 I BACKFIELDS =g & 378RT &7 33 JuATer & &7 # caafeya Far
ST & 3R F & alfee 3 GENT AT i /T gem?

If the letters in the word BACKFIELDS are arranged as in the English alphabetical order,
then which letter will be to the second right of the letter ‘F’. after the rearrangement?

Ans & 4. E

Question ID : 9864493696
Status : Answered
Chosen Option :2
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Q.70 sfag "RE AEs et ST TARLT 9T ATUIG v @ B @ g,
et wgeh 2 forare swaver T 3R ar W SR §) 3@ wer & dadr
rae fhg o9 9T smenfE geh?

Amish Tripathi, a famous Indian writer, is working on a series based on Ramayana, in
which the first two books focus on Rama and Sita, respectively. On which character does
the third book of this series focus?

Ans MELIE
v &)
Raavana

;T
2

Bharata

K3 o 2

Hanuman
&EHUT

X4
Lakshmana

Question ID : 9864492381
Status : Answered
Chosen Option : 4

A7 37 R 1 997 HY S AT g ¥ TEa 7@ g

B PBB

A B C D
Select the figure that does NOT belong in the following group.

Ans x1_D
X 2B
X3 A
vicC

Question ID : 9864493961
Status : Answered
Chosen Option : 4

Q.72 6 orEl & vs TR A fRE S0 & AT ol A F olaT g U Aed
wiameft wog # wfEe gam AT o & wrdiw & S W AAg #7 oA
e 3 & 92 AT @l AT T F Goa THE S g & AT WE W
_ = #

There was a group of six students who took a test. Another student joined the group after
taking the test later. With her marks included the average score of the group went up by 3.
This student has got marks more than the average marks without her being
included.

Ans o 121
X 220
X218
X+ 24

Question ID : 9864492698
Status : Answered
Chosen Option :1

Q.73 g aa o 9 v oI W ¢ i 2500 T TCM@T S O W W U o & ghil

The smallest number that must be subtracted from 2800 so that the obtained number is a perfect square is:

Ans  of 1. 69
X209
X3 73
X 4. 96

Question ID : 9864492536
Status : Answered
Chosen Option : 4
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Q.74 T2 v #=1E &, I DOG Fr 4157 fr@r = ¢, H’TMATafr%hﬂﬁlﬁT
FTTEm?
In a certain code, if DOG is written as 4157, then what will MAT be written as?

Ans X 113012
X 212120
X 314120
v 413120

Question ID : 9864493958
Status : Answered
Chosen Option : 4

Q75 & A AEer F ged 98 g

PG, QH, R, ?

Select the term missing from the given series.

PG, QH, RI. ?
Ans X1-JK
X2 LT
VAR
X< 48T

Question ID : 9864494321
Status : Answered
Chosen Option : 3




